

Maisonette Duplex in Bahar Ic-Caghaq



Bahar Ic-Caghaq, Central



€575,000

Reference No: 240501021-35

 Total Rooms: 11

 Floor Area (m²) : 200

 Bathrooms: 4

 Bedrooms: 3

Maisonette Duplex - For Sale - Bahar Ic-Caghaq

This modern duplex maisonette features a well-planned square layout, abundant natural light, and a contemporary finish throughout. On the lower level, it offers a spacious living area with enough room for a dedicated study or office space, two box rooms, and a main bathroom. Upstairs, the property includes three bedrooms — two double bedrooms, both with ensuite bathrooms and custom-fitted wardrobes, and one single bedroom. There are three bathrooms on this floor, including the ensuites. A large living and kitchen area is complemented by a pantry, and the space opens up to a generously sized backyard. An outdoor laundry room adds further convenience. The home also includes two separate living areas, a total of four bathrooms, two storage rooms, full air-conditioning, and double-glazed windows throughout. This maisonette is an ideal blend of space, comfort, and functionality, perfect for modern family living

Features

- ✓ En Suite
- ✓ Water Utility
- ✓ A/C
- ✓ Back Yard
- ✓ Parquet Floor
- ✓ Electricity Utility
- ✓ Wi-Fi
- ✓ CCTV

Rooms

- ✓ Kitchen : 6.23 x 6.07 m (37.82 m²)
- ✓ Bathroom : 2.43 x 2.5 m (6.08 m²)
- ✓ Single Bedroom : 3.01 x 3 m (9.03 m²)
- ✓ Single Bedroom : 3.01 x 3 m (9.03 m²)
- ✓ Box Room : 3.1 x 4.25 m (13.18 m²)
- ✓ Box Room : 3.1 x 4.25 m (13.18 m²)
- ✓ Box Room : 3.1 x 4.25 m (13.18 m²)
- ✓ Double Bedroom : 3.1 x 2.39 m (7.41 m²)
- ✓ Bathroom Ensuite : 2.51 x 1.63 m (4.09 m²)

- ✓ Open Space : 3.06 x 6.32 m (19.34 m2)
- ✓ Bathroom : 2.43 x 2.5 m (6.08 m2)
- ✓ Bathroom : 2.43 x 2.5 m (6.08 m2)

Gallery







Nathalie Barbara
RE/MAX Landmark - Madliena

M: 79495776
E: nathalie@remax.com.mt
T: 27564327

RE/MAX Landmark - Madliena
47, Triq il-Gladjoli, Madliena, Malta